Common mistakes Assignment no. 3
Question 1

· The Fibonacci number uses two previous elements, thus the induction base should check both F0 and F1.
· When proving with induction, all the stages should appear clearly: 
base, assumption, and the most important - the step. 
Some of the proofs weren’t full, and so not valid.
· In (b): some students wrote long calculations, instead of simply using (a), and the fact that  Fd = Θ(Φd) where Φ = (1+√5)/2

Question 2
There was a typo (in some of the exercises) in the IN-ORDER pseudo code given in the question: The procedure should call, of course, to her self (recursion call), and NOT to the POST-ORDER procedure. 
Those who solved the question with the mistake – points weren’t reduced, just be aware that they solved a not very reasonable question...
Question 4
Some students didn’t refer to the five cases in case of violation, where they should have show that after every case we still have at least one red node.
